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® BC = 6¢cm, /B =60°, /C = 120°
@ /A =30° /B =280° «C=120°
@E = 10cm, BC = 14cm, /B = 65°
@ AB = 9cm, AC = 12cm, /B = 45°

@A_C = Tem, /A =50°, £C = 40°
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® AB=7,BC=6,CA

® AB=8,BC=4, /B=60°

® AB=5,/A=60°, /B=060°

(@)zA =50°,/B =45°, /C = 85°

® AB=3,BC=4,CA=5
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@E:mm, BC=6cm, /B=80°
@ AB=6cm, BC=10cm, CA =4cm
® BC =8cm, /B=90° /C=95°
@E:lzcm, (A =30° /C=50°

® A =40°, /B=50° «C=90°
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th& a™8oA AB = AC, /ABE = /ACD°|t}. CD = BE
TS o, AHSE= AT a2
D
B
F
A y C E
O SSS g% @ SAS 9= B®)ASA =
@ RHS &% ® RHA &%
(BACE F5,

AB = AC, /ABE = /ACD
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the 189 AABCE= AB=AC©]1, BD= A
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@ BD =CE @ CD =BE @G)ap-cp
@ AD - AE ® BP = CP

/BCE = /CBD(BD,CE £ Z}9] o] 5£4)

.. ADBC = AECB(ASA &%)

AEolH t-got= Hol dojet o] It goHg
@ BD =CE

@ CD = BE

@ AB = AC,

55k ¥e] dol= ZoB22 BE = CD
AB =AE +BE, AC=AD +CD
~AE=AD

® ABEP = ACDP(ASA %) ol B2
BP =CP
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thS T4 AB = AD, /ABC = /ADE
o ], AABC = AADE©|T}. o]uj §Hxo]
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O AB=AD, AC = AE, BC =DE
@ AB=AD, AC = AE, /A= 3E
®)AB = AD, /A= 3%, /ABC = /ADE
@ BC=DE, AC=AE /A= 1%
® (A= FE, /ABC = /ADE, /ACB = /AED

AB = AD, /ABC = /ADE, /A £ 35 (ASA &%)




